Jb——ik: [RL—RRZb-2F-RZ M . [BERZ ] (R MHPHEBEDOH) ICMR B,
2L —ZARZ b BEAZ b ANZ
RIBEZ 7Y > +(10/20)
SRS LB SR bR | <2 BRSNS PE|SXPHEA| HBAK |2 bE
2k (24) 13 14 92.86 7 7] 100.00 4 4] 100.00
EE BEARZ b ANRZ b
#A7K(11/9.10) y ;
N2 L= RZAPE | R M| BEH | XA PE| R PHEA| HBAR | "X PE
EXS 56 72 77.78 49 57 85.96 19 22 86.36
34 0 2 0 0 1 0 0 1 0
24 26 36 72.22 23 27 85.19 9 11 81.82
15 27 32 84.38 24 27 88.89 10 10|  100.00
yL— 2 2 100.00 2 2| 100.00
2L—ZNRZ b BEANZ ARZ b
AFHKH(12/8) T _ AR AL
N2 L= | RRAPE | I M| BEH | RZAME| R PHEA| HBAS | RZME
ESXS 56 72 77.78 53 78 67.95 26 33 78.79
45 5 6 83.33 6 7 85.71 5 5| 100.00
34 3 11 27.27 4 12 33.33 3 7 42.86
24 9 20 45.00 11 21 52.38 8 11 72.73
14 19 24 79.17 21 27 77.78 10 10|  100.00
Jr— 11 11 100.00 11 11| 100.00
2L —ZANRZ b BEANZ b ARZ b
# A,7K(12/15) — — ; " ;
RRMH| L= | RAME | R M| BEH | RRME| R MHIZA| HBAR | RZFE
EXS 8 18 44.44 7 16 43.75 3 8 37.50
34 1 4 25.00 1 4 25.00 1 2 50.00
24 0 4 0 0 3 0 0 2 0
15 7 10 70.00 6 9 66.67 2 4 50.00
2L —ZRZ b EE AR b ~=T
#20(1/19) = - mE~ -
NRMR| L= | RR PR | A2 | BEH | RA PR AR PHEA| BIBAK | R bE
EXES 3 7 42.86 3 7 42.86 2 5 40.00
34 0 2 0 0 2 0 0 1 0
24 0 2 0 0 2 0 0 2 0
14 3 3 100.00 3 3| 100.00 2 2| 100.00
2L —ZANRZ b R R
AMA v 7(2/1.2) : i _ R~ AAR
N2 M| L= 2| RZAPE | R M| BEH | XX PE|RIPHEA| HBAR | XXX
EXES 8 31 25.81 6 23 26.09 3 11 27.27
k=3 0 1 0 0 1 0 0 1 0
34 0 7 0 0 7 0 0 3 0
24 8 17 47.06 6 10 60.00 3 4 75.00
14 0 6 0 0 5 0 0 3 0
DL —ZANZ bk BEANZ b ANZ R
=555y 7(2/8.9) - g - — -
N2 M| L= RZAPE | I M| BEH | R PE| RIPHEEA| HBAR | "X bE
2k (24) 2 6 33.33 1 3 33.33 1 1| 100.00
DL —ZANZ bk BEANZ b ANZ R
RIBAR(2/15.16) - — - — -
N2 M| L= RZAPE | I BEH | XX PE| R PHEEA| HBAR | "X PE
2k (34) 4 8 50.00 2 4 50.00 2 2| 100.00
DL —ZANZ k BEANZ b ANZ R
HZE%8)0(2/16) b—— — — — - -
N2 M| L= RZAPE | I M| BEH | XX PE| RIPHEEA| HBAR | "X PE
EXS 5 8 62.50 5 8 62.50 4 4] 100.00
34 1 2 50.00 1 2 50.00 1 1| 100.00
14 4 6 66.67 4 6 66.67 3 3| 100.00
DL —RRZ b EEARZ b ANZ R
S IGKER(3/2) - A - f N;, -~ -
N2 M| L= RZAPE | I M| BEH | XX PE| RIPHEEA| HBAR | "X PE
EXS 38 71 53.52 37 73 50.68 23 36 63.89
=3 2 11 18.18 2 11 18.18 2 7 28.57
34 5 16 31.25 6 17 35.29 5 10 50.00
24 14 24 58.33 14 24 58.33 9 12 75.00
15 9 14 64.29 10 15 66.67 7 7| 100.00
Jr— 5 6 83.33 5 6 83.33
i 2L—ZRZ b FERV S ANRZ R
HASEFHE(3/20-23)
NRMR| L= 2| RR PR | A2 | BEHM | RR PR AR PHEA| HIBAK | R bE
2 (3%) 0 2 0.00 0 2 0.00 0 1 0.00
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2L —ZRZ b FERVES ANZ R
HAg N (4/20) - _ _ — _
RRMH| L—REE| RAME | R M| EBEH | RRAME|RRMHIZA| HBAR | XXX
EXS 10 23 43.48 10 19 52.63 7 10 70.00
k=3 0 3 0.00 0 2 0.00 0 1 0.00
34 0 2 0.00 0 1 0.00 0 1 0.00
24 10 18 55.56 10 16 62.50 7 8 87.50
%2 (5/10) EroanAl EExAT ARAE
NZ | LB AR PR | A2 | EEH | AR PR R HAA | HBAS | RZ R
EXS 39 73 53.42 39 72 54.17 23 35 65.71
45 7 13 53.85 7 13 53.85 5 7 71.43
34 8 23 34.78 8 22 36.36 6 11 54,55
24 8 21 38.10 8 21 38.10 5 10 50.00
1% 16 16 100.00 16 16| 100.00 7 7| 100.00
7 B AE 6 2L —ZRZ b BEANZ b ANRZ b
(5/24-25) N2 L= | RAPE | R M| BEH | RZAME| R PHEA| HBAS | RZME
EXS 3 5 60.00 3 4 75.00 2 2| 100.00
A% 2 4 50.00 2 3 66.67 1 1| 100.00
1% 1 1 100.00 1 1| 100.00 1 1| 100.00
TF4F6/9) _Fro Al _ MmESA LAt
NZ | LB AR PR | R2 | EER | AR PR R A | HBAS | NZ R
ESXS 21 35 60.00 20 31 64.52 14 17 82.35
45 0 2 0.00 0 2 0.00 0 1 0.00
34 5 10 50.00 5 9 55.56 4 6 66.67
24 6 10 60.00 5 8 62.50 4 4| 100.00
15 10 13 76.92 10 12 83.33 6 6| 100.00
E(6/14.15) ELoANAL E~A b A~AE
NRMR| L= | RR PR | A2 | BEH | RA PR AR PMHEA| BIBAK | "X bE
EXS 65 109 59.63 56 76 73.68 28 35 80.00
[ES 4 24 16.67 4 14 28.57 3 8 37.50
34 13 29 44.83 13 20 65.00 8 10 80.00
24 22 30 73.33 18 21 85.71 10 10|  100.00
14 17 20 85.00 15 15|  100.00 7 7| 100.00
Jr— 6 6 100.00 6 6| 100.00
I e DL —ZANZ R BEANZ b ANZ R
(6/28.29) N2 M| L= 2| RZAPE | RZ M| BEH | XX PE|RIPHEEA| HBAR | XXX
21R(34) 1 6 16.67 1 3 33.33 1 1| 100.00
B RRFIE 2L —RRZX b FEET A << T
(7/5.6) N2 M| L= RZAPE | I M| BEH | R PE| RIPHEEA| HBAR | "X bE
2iR(45) 0 2 0.00 0 2 0.00 0 2 0.00
RIGEEFIE 2L —ZARZ b BEARZR b ARZ b
(7/5.6) N2 M| L= RZAPE | I BEH | XX PE| R PHEEA| HBAR | "X PE
21R(45) 4 6 66.67 3 3| 100.00 1 1| 100.00
8(7/12.13) ‘ QL/*ZNHZ % . EEN‘% ~ ARZ F.
N2 M| L= RZAPE | I M| BEH | XX PE| RIPHEEA| HBAR | "X PE
EXS 43 115 37.39 41 81 50.62 22 40 55.00
3 3 31 9.68 3 20 15.00 3 12 25.00
34 7 32 21.88 8 22 36.36 6 11 54.55
24 13 26 50.00 13 20 65.00 6 10 60.00
15 14 20 70.00 12 13 92.31 7 7| 100.00
Jr— 5 6 83.33 5 6 83.33
A8 (7/19.20) _ /i\l/—xm‘\”x # _ EE&% k ANRZ b _
NRMR| L= 2| RR PR | A2 | BEH | RR PR AR BPHEA| HIBAK | "2 bE
EXS 32 107 29.91 31 80 38.75 21 37 56.76
k=3 6 23 26.09 6 16 37.50 5 8 62.50
34 4 33 12.12 4 22 18.18 4 11 36.36
24 9 22 40.91 8 18 44.44 5 9 55.56
15 8 21 38.10 8 16 50.00 6 8 75.00
yr— 3 6 50.00 3 6 50.00
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BL—ZRZ F BEANZ b ANRZ b
#%#8)0(7/27)
NI LB RAPE | A2 M| BR[| RRPE]ARZMHAEA| HIBAR | "R bE
ESES 3 7 42.86 2 6 33.33 1 4 25.00
A 0 2 0.00 0 2 0.00 0 1 0.00
34 0 1 0.00 0 1 0.00 0 1 0.00
1% 3 4 75.00 2 3 66.67 1 2 50.00
SEAE/6-8) DL —ARZ b : BEARZ b ARZ |~‘
N2 L= 2| RZA PR | R BAH | RAPE| R MHEA| HBARK | RZXFE
B 18 62 29.03 18 51 35.29 11 24 45.83
A5 2 14 14.29 2 10 20.00 2 5 40.00
34 4 15 26.67 4 12 33.33 2 6 33.33
24 5 14 35.71 5 12 41.67 5 7 71.43
1% 3 13 23.08 3 11 27.27 2 6 33.33
JL— 4 6 66.67 4 6 66.67




